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2 0 ) 30
1/n nG G 980cm/s”) © (om) 2.0,1.4,1.0
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Ly=Ly/n ) K, (dyne/cm®) | 0.25x10°
A= AT @) 7, (dyne/cm’) 0.4x107
T o, (dyne/cm’) 0.6x10’
V= V/n 3) At (sec) 1.0x107
Y= NP Zn = Au (cm) 1.0x10°
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0.4x 107]0.6x107[0.65x1070.7x107] 0.8x10’
MPa) 0.124 | 0.226 | 0.205 | 0.181 | 0.197
3 B n ()| 34.0 20.5 24.1 28.3 25.9
MPa)| 0.465 | 0.651 | 0.633 | 0.606 | 0.629
MPa)| 0.065 | 0.072 | 0.073 | 0.082 | 0.093
n 7.15 9.02 8.67 7.44 6.76
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®i yij 60° 70° 80°
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H 0.6-08 n 100 75,100,125 100
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0.0~0.4
4
step
1 At
50000step 100000step 300000step
1987 5 () () (#70°  n=100)



